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And if he would inform us regarding a field, because it is stringent

Overview

1M M taught the rule of 77"M2 PX twice, once regarding a b3, and the other
regarding heirs that they are considered as bartering with each other and must re-
divide the fields by 921. We could not derive that he maintains 77°32 PR by 3
(where it is a X9p [for she can still marry a 7772]) from the case of a field, since by a
field (forcing them to return the fields and redivide) is a X17. Our M0N0 shows
that even if it can also be a X717, nevertheless we cannot derive v from 7.

nvoIn asks:
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And if you will say; we have learnt in the last P22 of m=123 ndon that °"

maintains 777992 7R even X2 in reference to heirs; this is -
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Regarding tithing cattle, where >" rules even if the heirs divided nine cows

against nine cows and ten cows against ten cows -
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We do not say that this is his portion which he rightfully deserves.

MooIN answers:
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And one can say that nevertheless we cannot derive ©x from that ruling, as the
X713 states there -

" The rule is that cattle which belong to partners (2°5mw) is 215 from 72 Mwyn. Therefore when someone dies and
leaves over his twenty cows to his two sons, so if they did not divide the estate, they are not considered aamw (for it
is still one estate) and they are "wv»a 2>°n. However (the issue begins) if they divided the estate and then rejoined in
a partnership; are they considered partners (and w¥nn 7WD), or do we say since they inherited equally and now by
rejoining, it is as if they never divided and they are 7w¥n1 21. There are those who maintain if it was not an equal
division, meaning that nine cows were as valuable as the other eleven cows, and that’s how they divided it and then
became partners, it is a valid partnership and they are 715 from “wvn (since they did not inherit nine and ten cows
respectively but rather half of each cow, and they traded their shares). However if all the cows were of equal value
and they divided ten for ten, we assume that 771°72 w° and this is exactly what they inherited, and when they joined
together in partnership, it is as if they never divided (it is like the original estate) and are "wy»2 2°1. However "2
maintains even if it was divided equally we say 772 X (they were never destined to get this ten animals
specifically, rather they exchanged their portions) and if they rejoin in a partnership it is valid and they are M9
Jwynn. We see that he rules 771°02 PR even 821, for on account of 77°72 PR they are Twynn wd, so we can derive
the 777°72 7R by v from the 777°72 X of AW1!

* The X3 there asks a (similar) question, why did >3 say this ruling of 7712 PX regarding a field and regarding “wyn.
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For if >"1 would say his ruling of 77°72 X in this case of 2w¥n, we would think
only in this case of wyn does >''1 say 77°72 PR, because Wwyn is similar to ‘your
son’ (712), just as 712 is clear to you, so too your flock must be clear® to you.

Summary
We cannot derive from “wvn that 77°92 PR even X7pY, for Wwyn requires an extra

level of 71702,

Thinking it over
Why did not the X713 here also cite the ruling of *"7 regarding 7wyn and explain (as

moon did) why we cannot derive v from Twyn?’

? The 7790 writes (in 03 112,20 [DWOWH] NAW) TINEY TS 7Yyn 12 0 5% 19A T2 112, equating 732 to TINE.

* Here by 7wyn it is not clear to us that these ten cows belong to him, etc. Therefore > says in this case since we are
not sure, we say 172 'R, since the 109 requires that we are sure (so even though the rule may generally be ©°
7772, but here the 770 requires an extra measure of assuredness which 777°72 cannot provide), however by 717
regarding 921, where there is no such 7% perhaps he would agree that 71°72 w°. The same answers applies here that
we cannot derive v from wyn, since by TWwyn there is a special 7109 that 7772 X even R7p2, but by va where there
no such 7% perhaps we say 771°72 v°.

> See 7N *WwADn XN # 54,
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